
AIR COMPRESSOR BRACKET
ENGINE BAY

TLR684602

SUITED TO:

MITSUBISHI TRITON MV SERIES 



PRE-INSTALLATION

Read through this 
installation guide 
before proceeding.

Fitting time 
is approx.
20 minutes.

Spanner
Socket Set
Allen Key Set

FITTING KIT

QUANTITY PART

1 TLR684602 – Main Mounting Bracket

3 M8 x 20 mm Button Head Bolt SS

1 M8 Nyloc Nut SS

4 M8 x 17 mm Flat Washer SS

2 M8 Spring Washer SS

NOTE:
This TLR Products Compressor Bracket locates in the front left 
corner of the engine bay and accommodates fitment of the ARB 
Single Air Compressor model CKMA12.

Photo 1 Photo 2



FITTING INSTRUCTIONS

hello@tlrproducts.com.au
www.tlrpoducts.com.au

instagram.com/tlrproducts
facebook.com/tlrproducts

1. Mount the Air Compressor onto 
the TLR Products mounting 
bracket in the orientation shown in 
Photo 1.

2. Remove the M6 relay box 
mounting bolt shown in Photo 2. 

3. Position the TLR Products bracket 
and compressor assembly down 
over the relay box and align all 3 
mounting points, 
Refer to Photo 3. 

4. Loosely fit the M8 x 20mm Button 
Head Bolts including both flat and 
spring washers into the 2 captive 
nuts in the upper radiator support 
as per Photo 3.

5. Loosely fit the M8 x 20mm bolt and 
Nyloc nut into the mounting tab 
shown in Photo 3. 

6. Re-Installed the previously remove 
M6 relay box mounting bolt 
through the lower mounting leg 
and securely tighten all hardware 
to secure mount into place. 

7. Install the Outlet Coupling, 
Pressure Switch and Toggle Switch 
as per Photo 4 and 5. 

8. Complete all wiring to finalise 
installation.  

Photo 3

Photo 4

Photo 5


	Slide 1
	Slide 2
	Slide 3

